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#include <stdio.h>
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m
return 00 ; O/4000000000 return 0000 %/
}
int main(void){
double a;
a=0000000; /«00000000000000 a000=*/

e D ODLOLODLUDLODLO

o N00#include 00 0Omain O OO ODODO
(DO0O0OO0D0DU0U00oOOoODOOOoOoOoUOooon)

gboobobooboobboobuoobbooboobooon
recurn 000000000000 0OO0O0OO0OOOOO
gboooooooooooobobo110noo

obooboooooooooooooooooooooouooonoog
oond




gooobo1l1googod

#include <stdio.h>

int main(void){
double al[3];
al[0]=2.5%0+1.0;
a[1]=2.5%1+1.0;
a[2]=2.5%2+1.0;
return O;
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#include <stdio.h> . .
#include <stdio.h>

int main(void){ double linear(int x){

double a[3]; do‘_lb;eSi’; o
a[0]1=2.5%0+1.0; y o x+l.
_ return y;
1]=2.5%1+1.0;
ZE2%=2 it 0 00000000000 */
return 0; } . .
} int main(void){

double al[3];
al[0]=1linear(0);
al[1]l=linear(1);
a[2]=1linear(2);
return O;
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mainJ 0000000000 =mainO0O00O0000
000000000000 O#include OO0 OOOOOOO
gooooooooon
00000000000 Osin(z) O log(z) 000
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0 O O printf(" Hello, world\n"); 0O O
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e 00200000004z, —=, 22, /7000000000000
0000000000000000 dmaxc 00000
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Input x: -0.5 O Enter[
Answer is 0.707107. )
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e max(a, b)) 0D 0ODO0O0OD0OU«D V00D OOODOODODODOOOO
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double max(double a, double b){
if (a<b) return ... ;
else return ... ;

}

e I0DODOUDOOOfabsOUDOIDOOOOsqrt(OOIDOOOODOOODO
ooooogog
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(1) #include <math.h>0 (2)-ImOO0CO0O0O
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int main(void){
double x, y;
printf ("Input x:");
scanf ("%1f",&x) ;
y = max(x, -x);
y = max(y, x*x);

printf ("Answer is %f.¥n",y);
return O;
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#include <stdio.h> ‘\
void func(int x){ /* 00 x00000000 =/
x=7; / x00000000x00000000 =/
}
int main(void){
int x=3;
func(x); / x=3000 x0000000 =/
printf("x is %d.¥n", x); /¥0x is 3.0 %/
return O;
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double functionA (int x, int y){
oogd..
}
int functionB(int x){ /* 00 x000 xO000x*/

double y; 100000000 /+ 00 yOOD0 yOOOx*/
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#include <stdio.h>
double ParamA, ParamB; /* 1. 000000000 *x/

double linear(double x){
return ParamA*x+ParamB; /* 3.00000 %/
}

int main(void){
ParamA=5.0; ParamB=3.2; /¥ 2. 0000/
printf ("Result is %f.¥n", linear(1.2));
printf ("Result is %f.¥n", linear(2.0));
return O;
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int main(void){
double Array[2000000000] ;
/40 000000000000000000000000 */
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double Array[2000000000] = {1.0, 2.0};
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int methodl(int a, int b)
— 200 int 0000000000
int0000000000

double method2(int a, double b)
—int0O0 double OO0 OO0 100000000
double DO OOOOOOOO

boolean method3(int a, int b, int c)
— 300 int 0000000000
bloolean OO trued 00 falseOD OO UOOOOOOO

void method4(double x)
—doubleJ00O0O0O10000000D0O0O0O00O0O0OO

double method5(void)
— J0000000Odouble 0 OOOOOOOO
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